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Ways to Prove Triangels Congruent
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A. Which of the following pairs are congruent by SAS or 5557

1 SSS q 4 SAS
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B. What additional information is needed to B E

F
show AABC = ADEF by SAS? By 555? > ) w
D
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Try It!

4. b. Is any additional information needed to show ADEF = AGHJ by
SAS? Explain.



A technician installs cables from a cell phone
tower to the ground. To pass inspection, both
cables must be the same length. Does this

installation meet the cable-length requirement?
Explain.

SOLUTION




3.a. Are /AJKL and /AAMNO congruent?

Explain.

b. Are AJKL and /A PQR congruent? Explain.



A. State whether each pair of triangles is congruent by SAS, SSS, ASA, or

AAS, or if the congruence cannot be determined.
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